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Recommended References for the Accounting Exam:

1. Principles of financial accounting

2. Intermediate accounting

3. Managerial or cost accounting

Any book with the same title will be fine. It should be recent
edition

Sample Questions of the Accounting Exam:

1. XYZ Company purchases 100,000 shares of ABC for $100,000, classified as trading. The
effect of this transaction on the components of the basic accounting equation of XYZ
Company is
a. anincrease in assets and liabilities.

b. a decrease in assets and liabilities.
c. Anincrease in assets and equity.
d. None of the above.

2. Al-Shams Consulting started the year with total assets of KD 100,000 and total liabilities of
KD 40,000. During the year, the business reported net income of KD 70,000 and declared a
property dividend of KD 40,000 during the year.

The equity at the end of the year was
a. KD 90,000.
b. KD 130,000.
c. KD 60,000.
d. None of the above.

3. On November 1st. ABC paid KD 12,000 for one-year rent. Prepaid rent was debited for the
full amount. If financial statements are prepared on December 31, the adjusting entry to
be made by ABC is

Debit Rent Expense, KD 12,000; Credit Prepaid Rent, KD 12,000.

Debit Prepaid Rent, KD 2,000; Credit Rent Expense, KD 2,000.

Debit Rent Expense, KD 1,000; Credit Prepaid Rent, KD 1,000.

None of the above is correct.

oo o

4. According to IFRS, Leases are classified as:
a. Operating lease and financing lease.

b. Sale- type lease and financing lease.

c. Operating lease and investing lease.

d. None of the above is correct.



5. NBC Company purchased a depreciable asset for KD 100,000. The estimated residual value is KD
10,000, and the estimated useful life is 10 years. The double-declining balance method will be used
for depreciation. What is the depreciation expense for the first year?

a. KD 20,000
b. KD 22,500
c. KD 8,000
d. KD 18,000
6. An objective of the statement of cash flows is to
a. disclose changes during the period in all asset and all equity accounts.

b. provide information about a company’s operating, investing, and financing activities.

C.
d.

disclose the change in working capital during the period.
None of these answer choices are correct.

7. GULF Co. has the following data related to an item of inventory:

Inventory, May 1%, 1,000 units @ KD 3

Purchase, May 7, 2,000 units @ KD 4

Inventory, May 31%, 500 units

The value assigned to cost of goods sold if Gulf uses FIFO is

a

b,
C.
d.

KD 9,700.
KD 9,560.
KD 11,060.
None of the above

8. Earnings per share equals

a.
b.

C.

d.

Net income / weighted average numbers of common shares outstanding

Net income available to common shareholders / weighted average numbers of common
shares outstanding

Net income available to common shareholders / weighted average numbers of issued common
shares.

Net income available to common shareholders / weighted average numbers of authorized
common shares.

9. BBC Corporation observed that when 20,000 units were sold, a particular cost amounted
to KD 60,000. When volume increased by 20%, the cost totaled KD 66,500. The cost that
BBC is studying can best be described as a:

A. Variable cost.

B. Fixed cost.
C. Semi variable cost.
D. Discretionary fixed cost.



